
                 ANSWERS TO CHAPTER 1 QUESTIONS

ANSWER 1.1 

    There are four reasons why Tom Taylor takes the order as directed:

A.  It is not an accepted practice in the U.S. to disobey one’s boss. Insubordination is a valid cause for instant discharge.

B.  There is a chance that Carl Bauer knows something about this customer that Tom does not.
C.  Tom’s understanding of the customer's requirements could be outdated.

D.  Should this new customer become dissatisfied at a later time, Carl Bauer will be fully responsible for it.  Tom Taylor need not be concerned about it.  Furthermore, remedial action can be readily taken at that time to make good with this customer.

ANSWER 1.2

    Nancy Bush should do the following:

A.  Develop the evaluation criteria for the decision (e.g., cost, speed of delivery, time to market, quality control, supplier relationship, availability of plant capacity, novelty of technology, tooling requirements for in-house production, material procurement, etc.) and make a preliminary assessment. 
B.  Talk to both supervisors separately and enlist their evaluation based on the above criteria.

C.) Review the inputs of both supervisors and make a decision. For example, decide to buy now and plan for in-house production in one year if the supplier relationship does not work out.

D.) Communicate with the supervisors and explain his rationale for the final decision.

ANSWER 1.3 

    A useful solution is one which ensures that the student does not have to pay tuition for the new semester on the one hand, and that it satisfies the requirement of having customer feedback data to substantiate the value of the report on the other. The following is a way to accomplish both requirements:

A.  Professor B accepts the report as presented on a tentative basis, allowing Student A to graduate on January 8, as planned.  This effectively negates the need for the student to pay more tuition.  Professor B extends the due date of her final report by four weeks.

B.  Student A obliges to continue collecting data during the period of January 9 to February 4 so that customer feedback data will be available for inclusion in her final report, which is due before her departure for her home country.

C.  Professor B assigns a letter grade for her final report in early February so that she will receive her diploma with a minor delay. 

ANSWER 1.4

    The answer to this question is a definite “maybe.” Obviously, his computation of the cost is correct.  However, his estimation of the realizable benefit is questionable. 

    The engineering manager has so far failed to show that 100 hours of labor saved per month can be effectively used to yield tangible and measurable financial benefit for the company. If the saved labor time is used by workers to drink more coffee and/or socialize more, then there is no evidence that the president will see a benefit of $1500/month.  Real benefits are possible under the following circumstances:
A.  If, because of the saved labor time, the company can now reduce the labor force by half a person per year (e.g., by way of scaled down  overtime and/or switching one worker from full time to part-time), then the saving of $18,000/year (or $1500/month) can be effectively realized.

B.  If the saved labor time can be used to generate new sales orders (e.g., by way of shuffling the work around to unload a sales person) which in turn would bring in new sales revenue, then the benefit is also real and documentable in financial terms.

    In the absence of any evidence to demonstrate how the saved time can be translated into real benefit, the claim of the engineering manager is at best a possibility with unknown probability.  To support the equipment proposal the engineering manager needs to go one step further in defining how the benefit can indeed be realized, as his current benefit to cost analysis is too vague.

ANSWER 1.5

    Peter Drucker pointed out in his book (Drucker 1999) that business managers face a number of challenges in the new millennium.  These include: (1) management’s new paradigms, (2) strategy – the new certainties, (3) leader spearheading the change, (4) information challenges, (5) knowledge worker productivity, and (6) management of oneself.

Reference: Drucker, Peter. 1999. “Management Challenges for the 21st Century,” Harper Business.
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